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objective fype questions.
. . - » ¥ =
ST, Sl IEN Sy T
R e M A I \
TI54 /Zax e Foll 319y

- gwrast 2 maw ﬂ@%ﬁém@@ aféaf.g;dﬂﬁo:f_s;a
ﬂr@éﬁiéw @m?mﬁ‘ 8 oo cﬁr@gnggﬁn b2LnE’

viii) Do not write your name in1 the answer sheet except in the fly leaf. _
: . [ S T
-g—ﬂ\‘q-g nc‘:crg“i;q oA 190 S Sox PYIdhl b
et =T Geh > TGAT SR A roras |

oot

Grorigaafol gqﬂg Q@gs A5G mombggamﬁoej;b
Opwmg T@ETHTEH
PART-A

Write an essay on any one of the following in not more than 25 lines:(10)
1) Tamil Nadu Assembly Elections.
2) Cricket World Cup 2011.

3) SQuthem Railway.

Read the following passage carefully and answer the questions: (10)

The word ‘adventure’ embraces a company of great words, including
courage, tenaciy, selflessness and faith, put its potent ingredient cannot be
expressed in one word. It is the spirt that urges men to volunteer 10 undertake
hazardous tasks. For adventure implies the readiness and desire to embark on a
course of action that entails risk. A young child may display an instinct for
adventure by going out 10 explore the mysteries of the nursery, but this kind of
adventure is hardly appreciable because the child has not yet sufficient reasoning
power to realise the potential risk in such an action. As we grow older, however,
spirt of adventure tends to be restrained by caution; the fire is often smothered by
reason, which gives waming of impending dangers and coldly counsels safety
first. Yet in some men the urge for adventure may be so strong that overwhelms
the primary instinct of self preservation and inspires them 1o attempt the
impossible, to reach out (he unattainable.

1} What other words does tne word ‘adventure’ embrace?
2) Whatis adventure's most potent ingredient?
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3) Why is the action of the child in going out not appreciable?
4) What happens when we grow older?
5) What is the effect of the urge for adventure in some men?

‘Give the opposites of: | (10)
1) educated, 2)coward,  3)relevant,  4)lost, 5) adequate
6)respect,  7)fiend, | 8) divided,  9) enter 10) truth
| .
. |
Fill in the blanks with prepositions: | (10)
1) A child is not able to distinguish good ................ evil.
2) He acted.............haste. | |
3) In compliance .......... the orders dated 20.01.2011, ...... Central Administrative

Tribunal, Madras Bench,in OA No.201/ 2011 the representation of the
applicant has been considered and disposed as .......... E

4) He arrived ......... air
5) He scoffed ......... the talk of revolution.

- B) | prevailed......... him to join the union.

7) Death does not distinguish.......... the rich and the poor.
8) They could not agree.......... themselves,

Form the sentences on your own uﬁ:ing any five the following Quords:ﬁﬂ}

1) approve 2) punctual | 3) award 4) celebrations S)leave

Glallowance 7)certificate = 8)suspend  S)compensation 10)penalty

Fill in the blanks with articles: (5)

s i R S rose is the sweetest of all flowers.

2) Mot ........... word was said,

3) Sri Lankais........ island.

4) HEI5 ;o honour 1o this profession

5) Who wishes fo take ........... walk with me?

Expand: : = (10)
! ﬁ;{_ &

1) DA 2) ATM 3) TTE 4)DGM 5y AFm LG

6) CCM 7) LHAP 8) PTO 9AIR 10) DVD-



VIl Choose the correct answer: (10)
1) The national bird of India i$
(a) Swan (b) peacock  (c) sparrow  (d) rabin
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71 Total number of seats that were contested in Tamil Nadu assembly is
{a) 234 (b)232 {c)254 (d) none of these
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3) The Minister for Transport in Tamil Nadu is - L
(a) Sri. Ponmudi (b) Sri. Senthil Balaji (c) Sri. Sella Pandian °
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4) Cricket Player of Tamil Nadu selected for the West Indies Tour is

(a) Sri. Badrinath (b) Sn. Ashwin (c) Sri. Raman
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5) Osama Bin Laden was killed at
(a) Adilabad (b)Islamabad (c) Abbotabad
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§) Gadhafi belongs to
(a) Egypt (b) Brunei (c) Libya (d) Jordan



7) Headquarters of North Westemn Railway is
(a) Jaipur (b) Hajipur  (c) Bilaspur  (d) Bhuvaneshwar
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8) ' The captain for the Indian cricket team for the ensuing West Indies tour is
(a) Sri. Dhoni (b) Sri. Gautam Gambhir (c) Sni. Shewag
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9) Election Commissioner for the TamilNadu Assembly Elections is
(b) Sri. Naveen Chawla (b) Sni. Pravin Kumar (c¢) Sn. Naresh Gupta
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10) Solve:
gi+22+21-61
6 3 4 12
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1) Hari bought cardboard for Rs.1800
and Rs.2000/ on labour. He made 5

box. What was his percentage of profit? ol 1 =
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IX Solve any five of the following:

o/- and spent Rs.5000/- on transportation
00 boxes and sold them at Rs. 60/- per
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2) Prakash took a loan of Rs 50000/~ for 3 years with simple interesl. After 3
principle and interest, what is the rate of

years he repays Rs.62000/- towards
interest?
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3) The perimeter of a rectangle field is 840 metres. The breadth of the rectangle
is 120 metres. Find the length of the rectangle. :
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4) The pay of an employee is Rs.12000/- and the Grade Pay is 4000/-. He is in
occupation of railway quarers. Deamess Allowance is 51%. HRA s
30%.Transportation Allowance is Rs.1600/- . Find out his Gross pay.
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5y A 100 metre long train crosses a pole in 8 seconds. What is the speed of the
train in kilometres per hour?
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6) A cow has been tied to a pole with a rope of length 14 metres. Find the
total area the cow can graze?
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